do
dp_dn

[pb/GeV]

Ratio to CMS

=
o
(6)]

=
o
>

10°

10?

10

[EEY

0.5

7000 GeV pp Jets
:' I T | T I I I I | I T T T T |: g
— jet jet N g
Jet pT (35< pT <150,32< hfwdl <4l hcentralI <28) ;
=  m CMS EE
— ---- Herwig 7.2.1 default mps
§ 15
— —2
— ‘E\ g
- . .
B \S\ N
_ - _|
S . =
B N
|
; \‘\ ;
B . N
E’ ! l | | l | ! — | N E
- E} ------------ £] =
: e - :
B . : ]
- o :
1 | " 1 1 1 1 " | " 1 1 1 1 " |
50 100 150

Central Jet P, [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


